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B] In each circuit, either the value of (v) or | 1 “‘i [ﬂ
(1) 1s not known. b )1a v, Ba § <_> 50V 028 Y
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X a) Calculate the values of (v) and (1).
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%o, Question 2:
B] Two electric circuits, represented by boxes A and B, are connected as shown. The
2 reference direction for the current 1 in the interconnection and the reference polarity
B] for the voltage v across the mterconnection are as shown i the figure. For each of
)% the following sets of numerical values. calculate the power m the mterconnection
B] and state whether the power is flowing from A to B or vice versa
&
- - f

a)1=6 A v=30V ° — °
€2 I
E] c)i=4A v=-60V -~ S
X d)i1=-8A v=-20V

b @ P = b6 % F0 = /Sow [vem B #< B
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e Question 3:

ﬂ] The numerical values for the currents and voltages 1n the circuit are given m

E] the table. Find the total power developed n the circuit.

D

B] Element Voltage (V) Current (mA) in i

L SE
Up d Ve +

B] b ~24 -4 _ ' |

> ; Gl [l Ea

B] d —80 -15 _ T - & '

S e 40 2.5 . =

g] f 120 -25 B 1

2@ Pz «T.V = —(-d4)4de = /bo mw

@ P =Tv - —y4v(-z2))= 9mw
O
@ P o TV Y -l = Bymw

@ Pz =TV = _(<].5)(-86) = =~ |20mw
Eﬂe Pe Tgs 2.5 % 4o = Joe mw

@ F= TV = -25 %120 —Foomw
<’

D mrahmedmahdy.com 00201024041097 - 00201096019763

DX DD

)

&
)
J
Q&
)

J
o
)
J
&
1




DX DD

)

o5

1

J
@ Question 4:
y There are approximately 260 million passenger vehicles registered in the United ]
B] States. Assume that the battery in the average vehicle stores 540 watthours (Wh) of V
QB] energy. Estimate (in gigawatt-hours) the total energy stored mm U.S. passenger
X vehicles.
E:M”’“é*"”"z J40.49/ % w. Eg
<2 iz &
i )
€ &
i j
<2 9%
i )
<P %
i j
€2 %
i j
€9 &
f )
Yo %
i )
<2 &
i |
&2 &
g e
e &
g %
Q %
i |
&2 &
i )
€2 &
i )
< %%
i )
P Q
i )
< &

D mrahmedmahdy.com 00201024041097 - 00201096019763



